o lall dugiladl dual gl polosi] & aldme jbueno!
Q.il.“.ll g9l = Yo AV/Ye VT gl yall plall
(Gupalan ! dalil) dakl sdll douddniddlg guad! : BaLef!
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Cige YOANY/ANT - gl
daia (YA) duil Sl cilaiaa aas
& e LR RS Gl (£) ¥l i
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. o 2o ¥l e I e il o Sl

Gl ol R s oAl eeeee oo
il | & 9020

doa| 3ol | oy

u;\'&_>b_“ <le L.,a_al

il el il Gl 3139

i (YA ) il Sl lnded 208 Tage ookl augilill dal yall olod! abomis hdno! S| g | gl y
ke (£) i Vudll wd Yt Gl ggall = Yo AV/¥ oY il yall olal

A g il gl | ) ) il ol

S i il o a5l YOAY/ANT gl

bbb« bl
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From the numbers 1, 2, 3, 4, and 5. EReS VS 0 (& ¥V c\éﬁ\ e
How many even numbers greater than 300 A oS3 Kes ¥o v s S Tl
can be formed from these numbers with AN f\bﬁ\ o iya
replacement?

@ 30 ® 250 oo @ v @
© 11 @ 1530 v 0w
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o If Z = v2(sin30" +i cos 30°) ,then the o813
principle argument (amplitude) of the Yot or )Y\ =¢
number Z equals ............ £ saall ALY b

.................. S ol

v/ U.JLIJI JoaJl - d=salpoldalinl) A A



YAV VAT Gl judf aladl - SIS ygadf

o The direction cosines of
the vector A = (-2, 1,2) are

®

3
© (353
@ CLLD

(@ o ¥ 1 4300L) Wil | padl Aunighlg ot | - dolad) G gl Ayl 2L Balgeds (slin

azciall oliVI Lo ) pled g

................ Lﬁ;ﬁ(\'c\c\'—): P
(YeVNey-)
(v )
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Without expanding the determinant ,
Prove that :

3x 3x 3x
1 b a | = zero
a+b a+1 b+1

Ol Sl samal €6 )y 9o

AN A NS Al
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YAV/TAT alyud) aladl - 3] gl (A julod ¥ 2300) W | pal | dauctighy ot | - Loladl 3 430l ylhf AL Balgas (lowia!
o 1 Y . .
o If 1,w,w? are the cubic roots of one,then: JJ";?'.M T (o« ,f\) o5 13

14+ w4+ 0 + 0+ 0 vy
.................. + W+ O+®W+\
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OAnswer one of the following items

a- If the two straight lines:
Li:7v=(23,-4)+k(23,a)
L. - xX-5 _y+4  z—-4

2 p T 6 T 2

are parallel , find the value of each of a and b

b- Prove that the two straight line
Ll: 7_; = (1,2,4‘) + k1 (4‘, —2,2)
LZ: x =\1— 6k2

Yy = 1+ 21k2

,Z =1+ 33k, are perpendicular.

(el B401L) s 0 gy - ke gl 0 23 Bl i

O 38 i Ge e
1 e
Olesitiadd! OIS 131 -1
XY=~
t-& _tv o _0- J
(- :v

Y ht
wo el oo IS ded dam sl o )2

:pseditaca) O il -0
C(Yr-c) JH(EX ) =Tm 1\
¢ YSTH’\:& < vﬂ-\—\=u«4:vd

S

Olkelaze YY) old
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OIfA‘=22+3j—E ,B=41—7],

then 4 B equals .........

(@ o ¥ 1 4300L) Wil padl Aunighlg pond | - dolad) G gl Ayl 2L Balgeds (slin

AR Ea S L
< P up ~P -~ i=t
.................. g_g‘g\w.i
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The measure of the angle between the two Slalasl plad g 238713
straight lines whose direction cosines are G T ) (B et
vy v
2772 11 LM B ol v
(3 '3 ,3) and (\/_E ' ,0) equals ......... - = O ( ‘;ﬁ‘ﬁ)
............... G\ il iy

@ 60 ® 30° v @ v
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o Find the equation of the plane parallel to the S 9! 6 greadt Aolae s 5l
plane 2x +y — 4z = 0 and lies at a distance =t Pt Y Syl

. 51l

v/21 length unit from the point (1,2,0) 5k Bazy vy b e z 3l

( A ) M\ uﬁ
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@ Solve the following matrix equation: 2WNPRICIENPUNPR I PE
1 0 2 X 5 0 o \ . \
e [ S ) R f P N
1 1 O Z 7 v £ § \ \

13
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@ If Z = 2+ 2+/3i, then the exponential Oy WEY=E o813

form of Z is § saal ANy 5l 06
.................. éju

= T o, T . -
@ 4831 @ 463'- u‘,_bi @ uv-bi
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@ If x?+y?+2°+4x—6y+8z+4=0 1is —wi+vé+vu0+vu~@\§‘5l

the equation of a sphere, then the length TETEATA
of its diameter equals ............. length 80 S8 J5b 3B 88 Aolas o
unit. Jjb BJa-j .................. &jhﬁ.’{
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If direction angle of a vector are 2 (8 "t (750) <o\S 13
(45°,45",8°), then one of the values of -] Ozt ol Ll s 5
@eéquals....oir oo T e $3\3 (8) o

@ 45° ® 90 . Qe (D
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@Answer one of the following items: 1 e (o0 pBaY (S e o

a- Find the solution set of the equation : Dl Jom Ao games sl -

)\ LY
Z3* = —8i in the trigonometric form. AN gl FoA—=E

) (L)) =g o8 13-
b-If Z = 5 (1 + i), find the square roots Ty

. - - b ) om0 ] Al
of Z in the trigonometric form. & o 2 (ol

BRI IE S

v/ U.JLIJI JoaJl - d=alpoldulinl) A A auj



YAV/Y T Gyl plall - Lt ppll (A o 1 220015 2l | il Aty yaond | - Lol 20 0 sy L3 Bl (ool

19

v/ U.JLJJI JoaJl - d=alpoldulinl) A A auj



Yv/Yen gwumeu\fgsmmm (Al W1 2R ) Al f pad) A gl g it | — alad ] o gl sy LS Balgs (sloncial

@Hn%: "ce=1:3,then [n—3 Vid= ot o o 13
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YA/ YT gt yud aladf - 3L gl

@ The middle term in the expansion of

1
(2x +55)" equals

@ 1zc6 x 6

® 0

(A ooy Bl %) iy 3] - Gl AL 1 L Bl Dot

3 SKae 3 Lo Y ul
w(%*w")
o
.................. &SJL‘%
'&—w -‘u\\' @
10“ -\U\v @
Du" ! \Y @
\Y
' ©®
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@ The coordinates of the midpoint of the line- daladl) Caatie dlads il

segment whose terminals (87 er) bbb Aldez)
(_3’2’4) i (-5,2,8) IS . um (A <Y co-)

(-2,2,4) ARSENE
557 (+e5) @
G537 e B
(-4,2,6) () ()

® 0 6
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. 11 Wer 2y o Cond.
® Prove that the expansion of (xz + 12) (? ) 858 ol e
X
does not included a term free of X . o OR 05‘-’- A Jo gy Y
23
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Find the area of the parallelogram in which @MJXI\ S5 520 A les a5
A and B are two adjacent sides such that: | o1, s\awe Olabs T T ad !
A =(3,6,3), B =(-6,-2, -4). (8- V- =T (Y ) =T e
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